Activity 3 – Labour productivity 
Ford 
Total output = 2,510,500 cars 
Average number of employees = 50,100





Vauxhall 
Total output = 1,900,600 cars 
Average number of employees = 41,200





Apple 
Total output = 10,250,000 iPhone 7s 
Average number of employees = 100,250 






































Activity 3 – Labour productivity - Answers
Labour productivity =
       Total output per period of time 
Average number of employees per period of time

Ford 
Total output = 2,510,500 cars 
Average number of employees = 50,100
2,510,500
50,100 = 50.01 per worker 

Vauxhall 
Total output = 1,900,600 cars 
Average number of employees = 41,200
1,900,600
41,200 = 46.13 per worker 

Apple 
[bookmark: _GoBack]Total output = 10,250,000 iPhone 7s 
Average number of employees = 100,250 
10,250,000
100,250  = 102.24 per worker 
